
Candidate 3 evidence 
Hydroe lect ric power 

The  aim of t his experiment  was to see  how much power was generated 
from a hydroe lect ric generator when the  wate r fe ll from different  
he ight s. 

Hydroe lect ric power is power generated from wate r. Usually a dam is 
used to store  t he  water and the  wate r falls onto t he  generator, t urning it  
and generat ing e lect ricit y. The  amount  of e lect ricit y made  depends on 
the  he ight  t he  wate r falls. The  greate r t he  he ight  t he  more  e lect ricit y 
made . The  kine t ic ene rgy from the  wate r falling is converted to e lect rical 
ene rgy.  

Because  of climate  change  and CO2 act ing as a greenhouse  gas fue ls 
which do not  make  CO2 when generat ing e lect ricit y are  be t te r. Wate r is 
not  a fossil fue l and does not  make  CO2 when making e lect ricit y. Other 
renewable  fue ls are  wind power and t idal power.  

A hydroe lect ric dam needs to have  a steep gradient  and a high leve l of 
rainfall. Narrow steep valleys are  ideal and t he re  are  lot s of suit able  
areas for hydroe lect ric in Scot land.  

This experiment  is using a mode l hydroe lect rical generator and wate r 
was dropped from diffe rent  he ight s and the  amount  of e lect ric power 
generated measured using a mult ime te r.  

Result s 

He ight  
(cm) At tempt  1 At tempt  2 At tempt  3 Mean

10 0.45 0.48 0.26 0.38 
20 0.56 0.54 0.59 0.56 
30 0.68 0.65 0.66 0.66 
40 0.75 0.72 0.76 0.74 
50 0.86 0.88 0.91 0.88 
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My second source  of dat a 
(ht t ps:/ /www.engineeringtoolbox.com/hydropower-d_1359.html)  
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Comparing 
my result s to t he  engineering toolbox result s shows the  same  thing: t he  
bigger t he  dist ance  t he  wate r falls from the  more  power is generated.  
 
My conclusion is t hat  t he  more  he ight  wate r falls in a hydroe lect ric 
power st at ion the  more  e lect ricit y made .  
 
My evaluat ion of t he  e xperiment  is t hat  t he  experiment  went  we ll. I he ld 
t he  wate r pipe  in a clamp so that  t he  he ight  didnçt  keep changing. I 
t urned the  t ap t he  same  dist ance  each t ime  so t hat  t he  wate r flow 
wasnçt  diffe rent  and both of t hese  t hings would make  my experiment  a 
fair experiment .  
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